TEST 5 – GRADE 9

    I / Choose the best answer. (3.0pts )
1. Air ______________ is often seen as a major environmental result of modern living.
A. pollution               B. protection    
            C. conservation                   D. refreshment

      2. They worked very hard. ____________, they passed the exam easily.

A. Therefore

B. However

C. Because

         D. Besides

3. If we go on littering, our streets ________________ more and more polluted.

A. be                          B. not be                       C. will be                           D. would be

4. Electricity and water are not luxuries but ______________.

             
A. enormous

B. necessities

  C. costly

        D. harmful

            5. All the buildings will  ______________ by solar energy in 2020. 
             
A. heat                        B. heating                      C. to heat                           D. be heated   

            6. Lighting accounts ________ 10 percent of the electricity bill every month at my house.

             
A. for

            B. to

               C. of

                     D. in

            7. Lan  can’t go with us as she has to stay at home and _______________ her younger sister.

             
A. look at
            B. look after
               C. look for

         D. look up

           8. This poster means that we shouldn’t ______________
    

A. waste paper            B. reduce water              C. collect paper                 D. recycle paper

           9.What about collecting unused clothes for the homeless?” - B: “__________”

A. Great! Let’s do it.



    C. It’s very kind of you. We need them.


B. Thank you. We will.   


    D. That’s it. Unused clothes are still useful.

          10.A: “I suggest using public buses instead of motorbike.” - B: “__________”

A. Yes, please.
B. Good idea.

    C. We will.

         D. I’m afraid not.

*Look at the sign and choose the best answer
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11.           A. Cross road 
 

B. Highway begins 
 

C. Roundabout 
 
 

D. Two way traffic 
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12.  A. No cooking

B. Fire alarm 

C. No pushing
D. Danger

             II / Choose the suitable word to fill in each blank. (1,5pts)

Garbage is a (13) ________ problem in the U.S. Every year, Americans produce about 308 billion pounds. A lot of the garbage goes to the landfills. But many landfills do not have enough room (14) ______ all the garbage.One answer to the garbage problem is recycling. Half of all the garbage in the U.S can be (15) ______ and use again.                                                                             

Recycling helps the landfills problem and (16) _______ enough energy too. When people recycle newspapers, they save (17) __________. When they recycle glass, plastic, or cans, they save oil and electricity. Recycling is good for (18) __________.

13.A. difficulty

B. serious

C. pleased

D. dangerous

14.A. for


B. from

C. in


D. at

15.A. reused

B. recycled

C. product

D. reduced

16.A. save


B. saving

C. to save

D. saves

17.A. trees


B. paper

C. electricity

D. water

18.A. everything

B. everyone

C. something

D. someone


         III/ Read the text and do as directed (1.5pts)

The government is trying to improve the quality of water in Vietnam. The Ministry of Agriculture and Rural Development said that in the countryside 86% of people have safe water to use. The National Target Program for RWSS said that between 2016 and 2020, they will try to improve the water quality. They plan to increase the supply of safe water to 95% of the population in the countryside.

In the future, the government will make the water safer for people in the country to use.

 A . Choose the correct answer : (0.5pt)


     19.What is not mentioned in the passage.

A. 86% of people in the countryside have safe water to use.

B. The government will try to improve the water quality.

C. They intend to increase the percentage of safe water by 9% in about 4 years.

D. In the future, the water safer will be made only for people in the city.

20.What is the passage mainly about?

A. Water in Our Homes.

B. Water Safety Planning in Vietnam.

C. Water on the Farms in Vietnam.

D. Water in Cities in Vietnam.

 B. Check the following statements True or False : ( 1pt ) Học sinh ghi rõ True hay False ở phần Answers)


21.The government is trying to improve water quality in the city.





22.Over three quarters of people in the countryside have safe water.





23. In 2 years, the government will try to improve the water quality.





24.They plan to increase the percentage of safe water by 9% between 2016 and 2020.
    
    IV /  Use the correct form of the word given in each sentence. (1,5pts)
25. Consumers want ___________ that work effectively and save money.  ( produce )

26. Some volunteer ____________________ help to clear up the beach. (conservation)

27. ______________, all the standard lights were replaced with energy-saving bulbs. ( Ultimate )

28. In Singapore, anyone who is caught littering on the streets will be fined _________(heavy)

29. We must learn about keeping the environment ______( pollute)

30. The ____________.of traffic signs on this road should be done immediately.(replace)

    V/ Rearrange these following words into complete sentences : (0.5pt)

31. using / instead of / What about / motorbikes / public buses ? 

32. pleased that/ working hard/ My teacher/ we are/ for our examination/ is 

Answers:  31. What about ______________________________________________________ ?


32.  My teacher _________________________________________________________
  VI/ Rewrite the following sentences without changing their meanings. ( 2pts )

33. How about  putting garbage bins around the school yard.?



34. Van Hau  plays football very skillfully.  





35. Mr. Brown was disappointed because his son didn’t write to him. 

36. Because of his serious sickness, he couldn’t come to class.

33. Let’s________________________________________________________________
34. Van Hau is  ____________________________________________________________

35.  Mr. Brown was disappointed that _________________________________________

36. Because he ____________________________________________________________________

THE END







